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1.What is the correct method for gathering Horizon agent logs?

A. From the desktop where Horizon Agent is installed, run the commandsys report._full.

cmd.

B. From the desktop where Horizon Client is installed, run the command imvtutil --verbose.

C. From the desktop where Horizon Connection Server is installed, run the command wmware-sviconfig -
log.

D. From the desktop where Horizon Agent is installed, run the commandsupport. bat.

Answer: C

2.Which VMware Digital Workspace components provides a unified and user-centric approach to
managing and securing an endpoint from a single platform?

A. VMware vSphere

B. Workspace ONE Access

C. Workspace ONE UEM

D. VMware Horizon

Answer: C

Explanation:

https://www.vmware.com/asean/products/workspace-one/workspace-iot.html

3.Which service gives the ability to remote control Android devices?
A. Workspace ONE Assist

B. Workspace ONE Intelligence

C. Workspace ONE Access

D. Workspace ONE Tunnel

Answer: A

4.DRAG DROP

Match the client type on the left with its key benefit on the right by dragging the client type into the correct
box.

M. m:m‘ - Key Benefit;

Zero E A chent with neghgible processing capatnhity that typically provides nch functionality
Client ISR independent of the central server.

Thick A simple computer with a hght-weight OS that has been optimized for establishing a
Chent remote connection with a server-based computing environment.

Thin A server-based computing model in which the end user’s computing device has no
Client  _ . local storage and retains OS5 in flash memory.

Answer:

M. m:m‘ - Key Benefit;

Zero :Eﬁ i A chent with neghgible processing capatnhity that typically provides nch functionality
Client 29 Ll independent of the central server,

Thick Thin A simple computer with a hght-weight OS that has been optimized for establishing a
Chent = Client remote connection with a server-based computing environment.

Thin Zero A server-based computing model in which the end user's computing device has no
Client | Client  local storage and retans OS5 in flash memory.
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Explanation:

A client with negligible processing capability that typically provides rich functionality independent of the
central server. Thick Client

A single computer with a light-weight OS that has been optimized for establishing a remote connection
with a server based computing environment. Thin Client

5.Which Feature of Workspace ONE Content Delivery Network reduces bandwidth requirements, server
load, and improves the client response times?

A. peer-to-peer

B. server caches

C. reverse proxies

D. web caches

Answer: C
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